L Write in digits

N R Y

10

11

o A R

3 0.1

one hundred and four thousand. o n4a00D
£111 +8p+9p+ 24p = £1.52 ..
0:35 = =+ thousandths _ 350 thousandths
2.81-630ml=~ ml _— 178mi
350gx 5= kg 1.75kg
o5 of £500 = £285
Tm28cm+8= <m ‘ G1cm
297 + 103 =40 x . 14
A—(F+ D= ' G
8x7= x 0.1 ) 550
£442 - £2.08

1-025= % a 23%

2-075= % b 75%

a 015 :

Write as decimal fractions. & %
n 2
25
What is the difference in grams
between 1%kg and 950g?

What length when divided by 6
is equal to 2m 50cm?

The three angles of a triangle each
measure 60°. Describe the triangle
according fc

a its angles a.
b its sides. b oouilateral

Find the vaiue of

a 50% of 650 a - 1)
b 25% of £0.72. b ... . iBp
How many times is 200ml contained

in 2.81? . B
Approximate to the nearest centimetre,

3 20.3cm a 20cm
b 79mm b. Eem
Write 2017 using Roman numerals.

Find the length in metres which is equai

to the digits underlined. 6.535km 35m
At 75p per %kg find the cost of

a 100g a. 1hp
b 300q. : b 45D
Find in centimetres the perimeter

of a rectangle which is 65mm long

and 30mm wide. . LA8em

acuis-angled
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M

2

Schofield & Sims

18% of the pecple at a cinema were
men, 39% were women and the
rest were children. What percentage
were children? _ 43%
Katie went on holiday on 29 July
and returned on 7 August. For how
many days was she on holiday?

Josh saved % of his pocket money
and spent & of the remainder,
What fraction did he spend? B

e

The population of a small town was

ten thousand. 50% of the people

were under the age of 25.

How many was that? R - 18 L V1

What is the length
in centimetres

of the fongest
straight line that
can be drawn
inside this circle?

UA0.8cm

50% of a sum of money was £7.00.
Find the whole sum of money. 3
How many packets each containing
0.2kg can be made from 35kg?

_,\
i
i

A milkshake contains 7 parts of milk
and 1 part of syrup. How many
millititres of each are required to

make 217 7soml 250ml

Kai's walking pace measures 6Gcm.
How many metres has he walked

after taking 50 paces?

The mass of 120xg of dry sand

is increased when wet by 10%.

Find its mass when weat, 122kg

A scooter costing £25 is reduced

by . Find .

a the price reduction ‘a £1.2%

b the new price. b £2375
Find the area of

a the front Ca 72

b the end
c {he bottom of the hox.

Mental Arithmetic 4 Answers
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Lo andb=29%cm.

6009+ . = 8000 S -
£3.75+ £375 + £375+ £3.75 =
L of £200= p

165 =5

19min + h  min =3h

x=m0= %

£2.00-{(78p +30p)=: p B 71 o]
2 of Im 80cm = - am - ~s4cm
0.05x8= B4
Zadfa - . g , ... 4809
a 07= . % a 0%
b09=" % 98%
009 x12= e 108

Write as a fraction,
in its lowest terms,
and then as a
percentage, the
part of the square

which is
' a shaded a 20%
b unshaded. b > 20%
How many right angles are there
in 270°7 3
By what length is 5C.4km longer
than 473km? 2 9km
Increase £3.70 oy 10%. £4.07
How many miltilitres must be addec
to 3050ml to make 3417 200mi
1 of a sum of money is 79p.
What is 50% of the money? f£1.52
Round 3.595 t0 the nearast tenth. 18
- Write as a fraction and simplify.

a 20% as
b 2% b s
Approximate to the nearest %kg.
a 7.65kg A 7ikg
5 3850q b .4k
Find the product of 0.2 and 0.3. o 0,06

a Write 20% as a decimal fraction. a S
v What is 20% of one thousand? b 200

Use the formula A = lb to find the
area of a rectangle when | =16.5 cm

148 Sem?

27
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SECTION 2 | Test 10

Find the profit on a scarf which was
bought for £8.35 and sold for £16.  £1.8%

Two angles of a triangle each
measure 78°.

a Name the triangle. a_izosceiss

iy Find the third angle. b I
The line has been drawn to a scale

1mm to 10m. What distance in

metres does it represent?

7.8cm
I - . Bt

40% of a sum of money is £36. Find
a 10% of the sum of money
b the whole sum of money.

a £%
b £20

z Name the regular
shape drawn in
the circle.

b What is the size of
the angle shaded

a pentagon. -

at the centre? b 7z
A bus runs every 35min starting at
07:40. At what time does the third
bus leave? 0850

How many chocolates at three for
20p can be bought for £3.807 _ Y

Wirite the coordinates of the point
(2, 5y when it is reflected in

the line x = 4. B, .8
4 T
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Which year is represented in

Roman numerals as MCMLXXXIV? 1954
0.5kg of mushrooms cost £1.20.
What is the cost of  a 100g a fh.z24
o 0.9kg? b L2085 .
This shape is built from centimetre
cubes. Find its dimensions.
o a length a_ . gcm
b width b 4cm
L ¢ height C o acm
How many centimetre cubes are
used to build the block? . A0E




